Oo00/00000 00000 oooboooogoooon

oogond ogo0Oo/mooo0n
000000000000 UUoo-
ooond 00000000000 oooo
00 4300.00/0
oogond oogog:.
oo:000
O O :sast
ooggd O0U0U0OU0O0OQsz-27
ggoond 0531-68858218 15628993701
0000

gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
gooboobooooooobbobbbodoodubbbbbbooouUoDbDbbDbbi18660138026

gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
goobooo

goboobboooodad
mOmddm*>*-20 m=*-30 0000000000000 8mm
Do0O00b0o0dbooOonobddeomm

sUsd0 00000 DO0O0bOoOnni2smm
gUgdDg-20 00 00O00OODODOO0ODO O 160mm

g OOoogag



g0 00000 g0 0ooon

glogoooobobobbooooobnb bbb bbb ooG
gobbobbbudooogobobbbddoguoboobbuoooooboobobbouoouoad

guodouoobbbogoooobobbbgoooobobbbuoooooobbbuooooooon

J0o0oobooboooobodleommbodobooobDokar D0 00000 oooDon

0 0O < 8barld
OO0 000 oood OO0 oood 00
bar psi [/min 000 00O 00O kg
06 6:1 48 696 29.91 g1/2 npt 1/2 12.7
npt 1/2
010 10:1 80 1160 18.84 g1/2 12.7
npt 1/2 npt 1/2
016 16:1 128 1856 12.42 g1/2 12.7
npt 1/2 npt 1/2
028 P8:1 024 3248 7.11 g1/2 12.2
npt 1/2 npt 3/8
040 40:1 320 1640 4.89 g1/2 12.2
npt 1/2
npt 3/8
064 64:1 512 7424 3.08 g1/2 12.2
npt 1/2
npt 3/8
080 80:1 640 0280 P.44 g1/2 12.2
npt 1/2
npt 3/8
0100 100:1 800 11600 1.92 g1/2 12
npt 1/2




npt 3/8

0130 130:1 1040 15080 1.47 g1/2 m14*1.5 12
npt 1/2
0175 175:1 1400 20300 1.14 g1/2 12
m14*1.5
npt 1/2
0255 255:1 2040 29580 0.75 g1/2 m14*1.5 12
npt 1/4
0400 100:1 3200 16400 0.48 g1/2 m14*1.5 12
npt 1/4
*NO00000D000Oo/0ooOooo
*MOD0D00D0OO000008ar(ll6ps) D D000 DOOO(MOODOOOODOO)
*MO000000000Oe6bar@7pshO 00O OOOMOOOOOOODO
*MO0D0D000000D0O0003pkar@35ps) 000 00DO0O0OO0DOOODOOODODOO
gd0d 00O O0DODOO0O
gd0d 00000 dD O OO0
00 0043d 0000 00 O0ooad 00
bar psi I/min 000 0d 00 kg
gd6 6:1 18 696 18.60 g1/2 15.2
npt 1/2 npt 1/2




gd10 10:1 80 1160 30.61 g1/2 15.2
npt 1/2 npt 1/2

gd16 16:1 128 1856 19.73 g1/2 15.2
npt 1/2 npt 1/2

0d28 P8:1 024 3248 11.30 g1/2 14
npt 1/2 npt 1/2

gd40 410:1 320 1640 7.69 g1/2 14
npt 1/2 npt 1/2

gd64 64:1 512 7424 4.94 g1/2 14
npt 1/2 npt 3/8

gd80 80:1 640 0280 3.96 g1/2 14
npt 1/2 npt 3/8

0d100 100:1 800 11600 3.13 g1/2 13.8
npt 1/2 npt 3/8

0d130 130:1 1040 15080 P.40 g1/2 13.8
npt 1/2 m14*1.5

gd175 175:1 1400 20300 1.81 g1/2 13.8
npt 3/8 m14*1.5

gd255 55:1 2040 29580 1.23 g1/2 m14*1.5 13.8
npt 1/4

0d400 100:1 3200 16400 0.79 g1/2 m14*1.5 13.8
npt 1/4

*O0o0o0oobooo/oooooo

*MOO0DO0DO00DD0D00ooOg8ar(lleps)D D0 00D O0OMOODDOODDOO)

*O00D0O00D0DO00oOebar@psp 00D 00O O0OODOOODO

*MO0DDODO000D000DOO0003pkar@35ps)D 00000000 DODO0ODOOODODOO




guodoooobbouoooad

guooooon
OooobOoOo00oooooobobbDbO4a0mpat
guoduobbbboooouobbobbooooubbbboooubbbbuooobobbbon

guooobobbtoogouoobobboooouobbo, bbb oobbbbuoooooo
gooboo

gobbobbbodoooooobobbodoooonooboo
gobobobbbdooooooboboobbodoooooboobbooooooobobooboboa

gobobbboooooobobbbdoooooboobbboooooobboobobboooad
oo

guoouobobbtuoogoboobbogoooobbbbooooada
guduobbbuoooouoobbgoooobbbboooobbbbooobobbobon

guoduobbbboooouobbobbooooubbbboooubbbbuooobobbbon
gobbobbbooooooboboobbbodoooobobbooooooobobbooooan

goooobod
goooobbobobbotodoooooboooon
gooooobobobooododd
godoobooboodd
godoobbobboooooon
gooobooo

goooobbobobbotodoooooboooon



goubbggggooobogoooon
goobobggogad
gouobugoooooood
goubbogoogooood
goubobbogoggoooood
goobogoggaog
goobogoogoog
goobogoggaog

goubbogoogooood

gooooobobobooododd

guoduobbbboooouobbobbooooubbbboooubbbbuooobobbbon
gobobobbboogoooobobbodoodobboobobbooooooooboboooboog

guodubbbbooduuoioibibibdddsast

gooon
Joooobooboooboobog/oooobooobon
O0000oo/0b0/0000000000dn25--400/40mpa)0]
O0/000000000 pdl---pds50 O
goo/000bobo0boooboo/ooboooooooDg
goooo/oobooboooobooog

0O00D0D0O0OD0O0O000 18660138026


http://www.tcpdf.org

